
1.49 ÷ 10 = 89.4 ÷ 10 = 7.98 ÷ 10 =

2.9 ÷ 10 = 2.9 ÷ 10 = 0.8 ÷ 10 =

0.08 ÷ 10 = 2.5 ÷ 10 = 2.433 ÷ 10 =

0.002 ÷ 10 = 7.76 ÷ 10 = 619.5 ÷ 10 =

9.248 ÷ 10 = 0.67 ÷ 10 = 0.01 ÷ 10 =

52.7 ÷ 10 = 0.39 ÷ 10 = 0.098 ÷ 10 =

0.02 ÷ 10 = 0.08 ÷ 10 = 0.093 ÷ 10 =

6.945 ÷ 10 = 56.9 ÷ 10 = 0.487 ÷ 10 =

2.49 ÷ 10 = 0.065 ÷ 10 = 0.065 ÷ 10 =

189.8 ÷ 10 = 55.32 ÷ 10 = 0.93 ÷ 10 =

0.011 ÷ 10 = 980.3 ÷ 10 = 0.68 ÷ 10 =

0.42 ÷ 10 = 0.04 ÷ 10 = 1.3 ÷ 10 =

2.3 ÷ 10 = 0.062 ÷ 10 = 779.7 ÷ 10 =

0.52 ÷ 10 = 66.74 ÷ 10 = 70.7 ÷ 10 =

0.496 ÷ 10 = 7.4 ÷ 10 = 50.6 ÷ 10 =
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1.49 ÷ 10 = 0.149 89.4 ÷ 10 = 8.94 7.98 ÷ 10 = 0.798

2.9 ÷ 10 = 0.29 2.9 ÷ 10 = 0.29 0.8 ÷ 10 = 0.08

0.08 ÷ 10 = 0.008 2.5 ÷ 10 = 0.25 2.433 ÷ 10 = 0.2433

0.002 ÷ 10 = 0.0002 7.76 ÷ 10 = 0.776 619.5 ÷ 10 = 61.95

9.248 ÷ 10 = 0.9248 0.67 ÷ 10 = 0.067 0.01 ÷ 10 = 0.001

52.7 ÷ 10 = 5.27 0.39 ÷ 10 = 0.039 0.098 ÷ 10 = 0.0098

0.02 ÷ 10 = 0.002 0.08 ÷ 10 = 0.008 0.093 ÷ 10 = 0.0093

6.945 ÷ 10 = 0.6945 56.9 ÷ 10 = 5.69 0.487 ÷ 10 = 0.0487

2.49 ÷ 10 = 0.249 0.065 ÷ 10 = 0.0065 0.065 ÷ 10 = 0.0065

189.8 ÷ 10 = 18.98 55.32 ÷ 10 = 5.532 0.93 ÷ 10 = 0.093

0.011 ÷ 10 = 0.0011 980.3 ÷ 10 = 98.03 0.68 ÷ 10 = 0.068

0.42 ÷ 10 = 0.042 0.04 ÷ 10 = 0.004 1.3 ÷ 10 = 0.13

2.3 ÷ 10 = 0.23 0.062 ÷ 10 = 0.0062 779.7 ÷ 10 = 77.97

0.52 ÷ 10 = 0.052 66.74 ÷ 10 = 6.674 70.7 ÷ 10 = 7.07

0.496 ÷ 10 = 0.0496 7.4 ÷ 10 = 0.74 50.6 ÷ 10 = 5.06
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